normalized X2

< x2/ ndf >

Ratio

Ratio

=

[y

<dpp. > (%)

chiz
Entries 1396
Mean 1.096
Std Dev. 06284

. chiz
+[Entes 213
Mean 1.053

Std Dev. 0.603:

X2

10 12 14 16 18 20

[ normalized x? probability |

T

op,1p. > (%)

Chiz_prob

0203040506070809 1

Entries 1396
Mean 0.4737
Std Dev 0.2982

: Thiz_prol
- [Entries 213
Mean 0.4955
Std Dev

il
il

Prob(x?)

|

== DQM_V0001_R000000001__Global__cmssw__RECO

co )

T

|

=== DQM_V0001_R000000001__Global__mkFitNew__RECO

] 5 ’H t
ol .*?+ l N1 1 A
_1 --------------- j ------------
: 4| :
_2 ........ :. ....... 1 ..: .........
T 1
_4 ........ L ; Y I
. fi i

< X2/ ndf >

F::f
0 2




	Contents
	Page 1


